010

L] [

O00000000o0obo0oDo0obD,0b0ob0ob00000b0Ob0d NewtonOOQOQOO
goob.oobooo, bbb boodobbooo,obbooooboobood
gogo.ooobo,boodbbtoooobbooobob,booobbboo0bnbbUoon
ggobooooo,bboogoooboogoobooooob.obbo,o0oobooboog
gogobooboooooo.

1.1 O0O0oO0Oooo

gooooobobbobbbotboooooooooboboobb,bbbbbb000ooon
go,bbbboboboooodooo,bbbooooooooobbbobbbbbboobooo
ggoboooooobooooboobouo. gobbooooboobo,o0obobooboo,
ggoddoooooooooooooooooboboboboob.bbbbbobbobob,0000
goobboooobbtboooobobbooobobbuoooob bbb boog
ygjodddoodddd. oo L, 0000000000 UUUOQ
ggobobooooboobooooboboag.

1.2 00O

Oo00oo00o0, Newton ODOQOODODODO," OOODODODODODODODDDODOOOOO
goooobooboobobooor ,ooboobooboboob. boo,0boobO
gobboooooooodoooboooooobbooo. ooboboboooo* 0obobo
(parcel)“DDDDDDDD,DDDDDDDDDDDDDDDDDD” gogooooo
N A A I A

*lgpoooooDoooDoog.



o100 00

000000000000000*®0000000000000.

121 000,000
D00D000D00D000000000.

e 00O (body force) D000 DOUDOODODDDOODOODODOO. ODO,000,
Coliois 00D 0D0DO00O0O000,0000000000O0DODDDODOO.

e 000 (surface force)J0 0000000, 0000000000D00DOO00OOO.
oo, bbobbbtboooodddooooouoooobob, 0o uoog
gobobooooboboooo. ogoboboooooboobog.

0000000000000000 (stress) 000. 000 MKSOOOOO Nm™?2
Oo00o0OdD. “0”0000b00000doo0,00d0o00oOdoo0 NOoooooo
gooogogno.

122 O0O0O0O0OO

000000 POOOCOODO,0 POOODOO SOOO,SO0 POOOCOOO
000000000000000000 (00 nO00000000000000)00
0o,7T,000.00000 T,0 SO000,000000 n00000. 00,0
000000000000 00000000. 00000 T,0200000 1000
000000000.000,000002000000 (tensor) 1000,90000,
Ty (,j =z,y,2 0000 1,2,3),0000000.* 000 T, (r;) 000000
ooooooo.

0000000,; 00000000000, 0000000000000000
0z 00000 ,, 00000.0000,200000000000,20000000
0000000000 y000000 7, 000 7, 00000.0

ooOoo00CoOooooooo,

T ,,=-T,, (000000, 7—)) = —Tij) (1.1)

goooog.
000000000000000000000000,000000000 (tangential

stress), 00000000 (shear stress), 0000 (normal stress) 00 0O. 00000,

00000000000000 (pressure), 00000000000 (tension) 000 .

*20000000000000000000000.
3000 1,2,30000000000000 z,y,200000.



1.3 00000

z
TZZ
I o
| Pl T
: yz
sz:
¥

X

011 0OpPOOO 00000000000, 00DOO0,POODOOO T,000
Uob0o0o00 m., 7. 004ooQ .., 000000O0.

1.23 0OO0OO

00000000000000,000000000000000000000000
0000000.000,00000000 z,vy,-,00000000001,2,3000,
0000000000000 00000000 20000000000000000, O
00000000 100 30000000,00000000.%

1.3 00000
gdotoooouoouoobobo, oo obo,toiooooooooooa

godd. goodoooooouoouooouooboooouooooogaa.

1.3.1 Lagrange 00O O (Lagrange 00O 0)

000000, 0000000000000000000*00000,00000
gooobooboboboooobobobu. boboboboboobobobo

*0U0DO00,00000000 I0000000000000.
*0D0000000000000000000000,0000000000000.
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o100 00

Oooo0oobOOoo0o0oobO0obooO0oDbO0ob0bO0. oo NOOOOobDOooooobooo
0o00,00000000 ¢00 (¢=1,2,...N)00000000O0 t0000OO
O r = (z;,vi,2) 000000. 000 ¢« 000000 (ODOOO)DOO0OO. OO,
gboooobboda,obboobbooobobooobobooob. booboboaboa
gbooboboobobodbbooobuoobbo,obbooboobboobooooba
00000000. 0000000 (t=0)000000000.¢t=00000000
0 a=(a,bc)000000000000O00O0OOOODOO @eO0O0OO (a,b,c)00
000. (a,b,c) 00000 O material coorinates0 00000 .
Oooooooobooooooo20000.

e I0J00I0:00D00ODOU0ODO,0D0ODUOUOD eOODODOODO.
e 0O DOOODOOODODODOODLDOOLDLDOODLDOD. DLDLDLOODLODbODbODL,0000
000000000000000O (00000000 D)0D000O0oDO0ooOOooOO.

Lagrange 00 O
OO000000o0o0oo0ooooooooonD,0don0, d Lagrange0 OO0 OO00O
00O O, material differentiation0 O O O

D

Dt
000 Lagrange 00000, 00000 FOOOOOOODODOOOO F(a,t) 00O
(e00000000DO0ODDOOOOO. O0D0,00000,0000). F O Lagrange

0o0O
DF oF

ggdd.oddoooooouooooon %WDDDDDDDDDD.

obooooobog,0110b0g0ooog.

U
00000000000 »0O Lagrange 000, 000000000 »000. OO,

v=2'000.00,00000000 220000000.

*00000000, Lagrange 000 &£ 00000000DDO.
*0ppo000000000nd



1.3 00000 11
0000 (Lagrange 00 0) 0000 (0O00)
Doo0oo 0000 a=(a,b,c): 0000 0 0000
000,00000 v(a,t) v; ()
D _ (0 d
oooo o = (51)a i

011 00000000 LagrangeOOOOO0OODOOOOOODODODO.

1.3.2 Euler0OO (Eulerd0OQ)

Lagrange 000 0000ODO0OO0DODODOODOOODOOOD,0D0000000DO0
Oo000ood0oooOo0oo. ooboood0o,0o0oo00o0oo00ooooo. ogo,o0o00
O0000o0o0o0. 0od0oo0oOo0ooO0o0ooooodDO,00boD00oogoDooooDo
OO00o0DoOoOO0o0,000000. 000000, LagrangeJOODOOOOCO0O,000
00000o000ooo0ooooOoOo,0o0p000oDoo00oDo,000o0oo0o0oDoO, ™
0,00)0000,000.00000,0000000000 EuerDDDDOO0O.

00000000000 t0000,00000 r=(x,y,2) 00000000000
DDDDDDDDDDDDDD.DDDD,DDDDDDDDDDDDDDDDD.*9

Fuler 0000 Lagrange 00000000 OCOO0O,Od0 x,y,z O Lagrange 000
000000 (0000000000000 0)00000,Euler00000000O0O0
goooooad.

1.3.3 LagrangeO OO EulerO00O0O

0o0o0ooooooo0oo00og FO Euer0OOO0d F(T,t)DDD.DDDD
Lagrange 000 Fuler 000000000 ODOO0O0OO. O0OOO ¢t0 r=(x,y,2) 0
00000000,00 t+At0000 r+vAt = (x 4+ ulAt, y+vAt, z+wAt) 00

*000000000000000D000D0,00,000,000000000000000,00000
00000000000 Lagrange OO0OOOOOOO.

0000000000000 000000000000. 000000000000000000000
gooooooooo,00oboooo0ooboooo0oobooooooDbooooooDog.
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o100 00

O00000. 0000000000000 FOOO AF O,

AF = F(x + ult, y + vAt, z + wAt, t + At) — F(z, y, z, t)
OF oF OF oF
== — — — | A At)?
((% +uo +U6y +w8z) t+0((At)?),

DF . AF OF oF OF oF

DB Ar T e Tl Tl (1.3)

000000, 000 O((AY?) 0 At00D000D0O0O0. FOOOODODOOO,
Lagrange 000 Euler 00 OO0 O

=—+4+v-V (1.4)
oogd.

o000 (14 0020000000000000.»-VOOOO V-o0OODOOOO
OO0 vioOoobooooooooooooboooooooboobogooo. oo, o
OOobooboOoooboobogbot.»-VOoOoOobO,0obobobobooboo
00000000 (0D e-VOOOOUDOO)OOOO,V-2p0OO0OODODOO
goobooon.

OO0 20000000000000O0O0.

Langrange 0 0 O Euler 00O
0o oo U
oood a = (a,b,c),t r=(z,y,2),t
oooo r;p,p, T, ... v = (u,v,w);p,p, T, ...
Lagrange 0 O, % (%)a (%)r—i—v-v

(l4)00000000000,»-VOOOODDODOOOODOO. 0O0OO0OODO,000
gooboooooboboooobobboooooobooon.

0gd
O0000050km 000000000000 3.0KO00O00ODO0OO0O. 00 10ms™' 000
gooooo, bbb oooob. oo, bogoobboooooooo
gooooobooboboog.
00 T0O Lagrange 000 Euler 00 O0OO0O0O0O,
DT 0T

Dt E"F’IJ'VT



1.3 00000
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DoooDo. ooo, 2 ooooooooooooo, 8 0000000000000000

» Dt ) Ot
0.00,0000 2 =0000,00000000000000
or
—=-v-VT
ot~ "

000000000. 0000 %-00000000000000 v=vj,v=-10m/s>0000
00.00,0000000000000000000, VT =455, 88 = —3K/50km 000,
ooooo

%g::—v-VTz:—&OX]0—?Kﬁ::—22Kﬂl

ooooooooooooobbo,ooooooooobooobbbobobo,bbbbbbbo,
goboooooboooboboooobo,boobo,boboobobobooooboboboon.

googe:

1. 0000000 f(abe) D0DDDDOD,0000 9f/0a00,0000 b,cO
00000,0000 ¢0 fO000000000000O0OO. OD0OOOOOOO
000000000000 (8f/da)y. 000000, 00000000000,
0000000000000 000000,0000000000000000
O00. 000000000, Lagrange 0000000 §/0t 0 Euler 0000
000 §/ot00000000000000000000000D000000

2. Lagrange 000 Euler 000 (14) 00000 »-VOOOODODODODODODO
00.

3.00000000000000000 03kPa/180km OO0O0D0D0OODDOO.
0000 10km/h000000000000O0O0O0O0O00 0.1kPa/3h 000
0. 0000000000000, 00000000000000000000
0000000000000ooo. *to
Dalz0000,2 00000000 «000000-VpOOOOOOODOO

ooo.

ObO0ODDO0O0ODODODO0O0O0O0O0OO0OO0OOODODOOOOOOOO

4. 000000000000D000D000 5Pakm™ ' 000000D0O00O. OO
000 10kmh! 000000000000 DOOODOOOODOOO 100Pa/3h
D000. D0000000000000000,0000000000000
Doooooooog.

5. 000000 50km D00D0D0D0O0DO0OOD 3KOOOOODOOO. OO
200ms~ ! 0000000000, 0000000000 1Kh~'00OO00OOO
00,000000000000000000000.




